T-WILSON2@EXCHANGE.TAMU.EDU

ÂM	т	'F		Z.	1	3	Δ	8	~	Л
ALW	U	N	I	v	E	R	s	I	T	Y

## Sales Tax Exemption

Texas A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

	Purchase Order	
Purchase Order Date	PO/Reference No.	Revision No.
Apr 6, 2020	AB0531342	original
Contact instructions for que	stions regarding this Pur	chase Order:
If Buyer Contact information i	s listed below, please cont	act the Buyer.
If not, please contact the Cust	omer.	
Buyer Contact:		
Buyer	Buyer Email	Buyer Phone Number
cjt - Toler, Cherise	ctoler@tamu.edu	979.845.5887
Customer Contact:		
Name:	Tressey Wilson	

+1 979-458-9837

## Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M's Department of Procurement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Texas A&M's Terms & Conditions, which are available online: http://purchasing.tamu.edu/suppliers/bids-catalogue-tc-form/

Email: Phone:

	Supp	plier Information				Delivery In	formatio	n	
Supplier Name		HBI OFFICE SOLU	TIONS INC	Deli	very Address				
Address		308 HWY 75 NORTH STE B		TAN	TAMUS Member:02-Texas A&M University (02)				
		HUNTSVILLE, TX 7	7320 US	Rus	sell Ramirez				
Phone		+1 936-295-4592		Gra	duates & Profess	sional			
Fax		+1 936-295-5264		Stud	lies				
FOB / FREIGHT		Destination		Nag	le Bldg #506				
Pre-Pay & Add		No		Roo	m				
Payment Terms		0, Net 30			Throckmorton				
Contract Number - Header E&I CNR01146			3 TAMU						
Contract Number	- Line	no value			ege Station, TX 7	7843-1113			
Quote number					ed States <b>very Informatic</b>				
					uired Delivery D				
					o Via		Carrier-Be	set Way	
				•		Dest	Carrier-De	est way	
Shipping Instruct			No	tes to Sup	plier				
Note to Supplier			N 4	lagle-Buildiı 54 Throckm	0	ping Address:			
				•	ontract CNR 011 ed Installation T				
Attachments for s	upplier								
PO Clauses									
Header 001	l	No Collect Freight Neither COD nor "Collect" freight or handling charges will be accepted. Charges Accepted							
102	2	TAMU Terms & Conditions	A&M Universit http://purchasi	ty and is go ing.tamu.ed	s A&M Universit verned by the Te u/suppliers/bids sity" from the dr	rms & Condition -catalogue-tc-fe	ns found o	nline:	
Line No. Proc	duct Descr	iption			Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price

1 of 29	1 TS4TPT - Campfire; Paper Table As Per Quote# 22416	n/a	EA	556.15 USD	2 EA	1,112.30 USD
2 of 29	2 TS4TWP - Campfire; Table-Personal As Per Quote# 22416	n/a	EA	244.02 USD	7 EA	1,708.14 USD
3 of 29	3 TS31409 - Jenny; Chair-Round As Per Quote# 22416	n/a	EA	1,007.44 USD	4 EA	4,029.76 USD
4 of 29	4 TS31409 - Jenny; Chair-Round As Per Quote# 22416	n/a	EA	1,028.85 USD	3 EA	3,086.55 USD
5 of 29	5 435A00 - Steelcase Series 1; Chair-Task As Per Quote# 22416	n/a	EA	388.01 USD	25 EA	9,700.25 USD
6 of 29	6 CWTDC6736 - Buffet-Contemporary, Wood, 3 doors, 24D x 67W x As Per Quote# 22416	n/a	EA	2,814.36 USD	1 EA	2,814.36 USD
7 of 29	7 CWFB60216 - Table-Boat shaped, Flat edge profile, Wood, 60D x As Per Quote# 22416	n/a	EA	7,113.93 USD	1 EA	7,113.93 USD
8 of 29	8 CWUPC630 - Base-Table, U panel, 6D x 30W As Per Quote# 22416	n/a	EA	787.29 USD	4 EA	3,149.16 USD
9 of 29	9 AKF7224RLC - Akira; Table-Rectangle, Flip top, L base, Fixed As Per Quote# 22416	n/a	EA	1,574.86 USD	16 EA	25,197.76 USD
10 of 29	10 AKBPIFMP20 - Infeed-Plug, 20 amperage, 1 circuit, Modular, 72L As Per Quote# 22416	n/a	EA	126.38 USD	4 EA	505.52 USD
11 of 29	11 MIGRELRQ - Migration; Desk-Rectangle, Electric As Per Quote# 22416	n/a	EA	804.34 USD	2 EA	1,608.68 USD
12 of 29	12 TS5ACSB2448P - Credenza-Buffet, Open shelf / doors, 24D x 48W As Per Quote# 22416	n/a	EA	793.04 USD	1 EA	793.04 USD
13 of 29	13 490410C - Move; Chair, Plastic back, No arms, Casters As Per Quote# 22416	n/a	EA	246.47 USD	41 EA	10,105.27 USD
14 of 29	14 BFR30 - Table-Round, 30 dia As Per Quote# 22416	n/a	EA	170.97 USD	2 EA	341.94 USD
15 of 29	15 BFR36 - Table-Round, 36 dia As Per Quote# 22416	n/a	EA	182.54 USD	4 EA	730.16 USD
16 of 29	16 BX26 - Base-X, 26W As Per Quote# 22416	n/a	EA	149.69 USD	6 EA	898.14 USD

				Total	85,5	96.22 <b>USD</b>
29 of 29	29 TS5ATR3672 - Table top-Racetrack, 36D x 72W As Per Quote# 22416	n/a	EA	327.52 USD	1 EA	327.52 USD
28 of 29	28 TS5ATBP72 - Table base-Panel, 24D x 42W x 28H As Per Quote# 22416	n/a	EA	207.00 USD	1 EA	207.00 USD
27 of 29	27 490410C - Move; Chair, Plastic back, No arms, Casters As Per Quote# 22416	n/a	EA	246.47 USD	6 EA	1,478.82 USD
26 of 29	26 TS5ATR3672 - Table top-Racetrack, 36D x 72W As Per Quote# 22416	n/a	EA	327.52 USD	1 EA	327.52 USD
25 of 29	25 TS5ATBP72 - Table base-Panel, 24D x 42W x 28H As Per Quote# 22416	n/a	EA	207.00 USD	1 EA	207.00 USD
24 of 29	24 TS5ACSB2466P - Credenza-Buffet, Open shelf / doors, 24D 66W As Per Quote# 22416	x n/a	EA	1,015.22 USD	1 EA	1,015.22 USD
23 of 29	23 490410C - Move; Chair, Plastic back, No arms, Casters As Per Quote# 22416	n/a	EA	246.47 USD	6 EA	1,478.82 USD
2 of 29	22 TS5ATRND36 - Table top-Round, 36 dia As Per Quote# 22416	n/a	EA	152.26 USD	3 EA	456.78 USD
1 of 29	21 TS5ATBXS - Table base-X, Steel, 35D x 35W x 28H As Per Quote# 22416	n/a	EA	263.12 USD	3 EA	789.36 USD
0 of 29	20 490410CP - Move; Chair, Plastic seat / back, No arms, Casters As Per Quote# 22416	n/a	EA	181.30 USD	9 EA	1,631.70 USD
9 of 29	19 TS5ATBTS - Table base-T, Steel, 4D x 30W x 28H As Per Quote# 22416	n/a	EA	178.02 USD	4 EA	712.08 USD
l8 of 29	18 TS5ART3072 - Top-Rectangular, 30D x 72W As Per Quote# 22416	n/a	EA	221.72 USD	2 EA	443.44 USD
7 of 29	17 490410CP - Move; Chair, Plastic seat / back, No arms, Casters As Per Quote# 22416	n/a	EA	181.30 USD	20 EA	3,626.00 USD

submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu. Email invoices to invoices@tamu.edu 750 Agronomy Road - Suite 3101

Invoice must include the PO/Reference number shown above.	6000 TAMU College Station, TX 77843-6000 United States
---	--